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ENTRANCE EXAMINATION - 2018

Ph.D. in Sanskrit Studies

Code: S-73

Duration: 2 Hours Max Marks: 80
Instructions to Candidates:
1. Part — A contains 40 questions on Research Methodology
2. Part — B contains 40 questions on the Subject
3. Each question carries one mark.
4. There is negative marking. Each wrong answer carries -0.33 mark. .
5. All questions should be answered in the OMR Answer Sheet only.
PART — A
1. Which of the following test is not used in Research Methodology?
A)-Chi-Square B) ANOVA C) ANACOVA D) ANANOVA- .=
“The manipulation of things, concepts or symbols for the purpose of generalising to extend, correct

or verify knowledge, whether that knowledge aids in construction of theory or in the practice of an
art” - Refers to?

2. A) Sinology B) Fiction C) Education D) Research

3. 930 g ©9 §90 9 TP, .. what is referred to in this line?

A) Chandas B) Veda Ganitam C) KATAPAYADI D) Puranam
4. Descriptive research includes ---

A) Surveys, fact finding enquiries

B) Measurement of quantity

C) Abstracting the ideas

D) Clinical studies

5. How many approaches are there to do research?

A) Quantitative B) Qualitative C) Both A&B D) Many
6. Subjective assessment in research refers to ---

A) Quantitative research

B) Qualitative research

C) Longitudinal research '
D) Simulation research
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7. ‘All progress is born of inquiry. Doubt is often better than overconfidence, for it leads to inquiry,
and inquiry leads to invention..” - Who said this?
A) Hiram Maxim B) Hudson Maxim C) Thomas Edison D) Newton

8. ‘Research provides the basis for nearly all government policies in our economic system,’ this
statement is -

A) False B) True C) Both A&B - D) Cannot say
9. Who confers the title - “Vishishta Samskrita Seva Vrati?’

A) Rashtriya Sanskrit Vidyapeetha

B) Rashtriya Sanskrit Samsthan

C) Lal Bahadur Shastri Sanskrit Vidyapeeth
D) Kashi Vidyapeeth

10. The following is not part of research ---

A) Policy making

B) Future developments

C) Decision making

D) Investigation of economic structure

11. Research in social sciences contributes to ---

A) Practical problems
B) Statistical analysis
C) Laboratory research
D) Diagnostic research

12. Case study is a method of ---

A) Library research

B) Field research

C) Laboratory research
D) Historical research

13. Research methods generate ---

A) Technology
B) Problems
C) Techniques
D) Processing

14, Research and Scientific method are ---

A) Mutually exclusive

B) Differ with each other
C) Contrary to each other
D) Closely related



15. Who wrote ‘The Grammar of Science?”’
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A) Egon Pearson B) Karl Pearson C) Francis Galton D) Ronald Fisher

16. Experimentation is done to test hypotheses and to discover new ---

A) Relationships
B) Problems

C) Perspectives
D) Analyses

17. Which of the following does not form the research process?

A) Defining problem

B) Review previous research
C) Interpret and report

D) Hypothesis

18. According to C.R. Kothari, research process consists ---

A) 11 steps

B) 10 steps

C) 09 steps

D) 07 steps

19. How many types of research problems are considered, in formulating a proposal?

A) One B) Two C) Three D) Four

20. Hypothesis should be capable of being ---

A) Rejected B) Disapproved C) Accepted D) Tested

21. Deductive Reasoning means -

A) Macro to Micro  B) Effect to Cause C) Whole to Parts D) All of the above

22 Who is the first recipient of Jnanapith awardee in Sanskrit literature?
A) Kapil Dev Dwivedi
B) M.R. Kale

C) V. Kutumba Sastry
D) Satya Vrata Sastry

23. Research purposes may be grouped into --- categories

A) Two B) Three - C) Four D) Nine



24. All the items under consideration in any field of inquiry constitute a ---

A) Universe

B) Population

C) Both A&B

D) None of the above

25. How many sangatis are enumerated in Mimamsa system of philosophy?
A)03 B) 05 C) 07 D) 02
26. Samples, in research can be --- samples

A) Probability

B) Non-probability
C) Both A&B

D) None of the above

27. AETTE A TN - this statement belongs to what type of siddhanta?

A) Sarvatantra siddhanta
B) Adhikarana siddhanta

C) Pratitantra siddhanta

D) Abhyupagama siddhanta

28. Which of the following is not used in Hypothesis testing?

A) Chi square test B) t-test C) F-test D) Popper test

29. g foled o ufaagead - who said this?
A) Sayana

B)*Mallinatha

C) Bhatta Bhaskara

D) Maharshi Daivarata

30. What UGC stands for?

A) Union Grants Commission

B) Unversal Grants Consortium
C) University Grants Commission
D) Union General Council

31. Gautama in his Nyaya Darshana states --- types of siddhantas
A)03 B) 04 C)05 D) 06

32. ISBN is the acronym of ---

A) International Standard Book Number
B) Indian State Bar code Number

C) Internal Service Blocking Number
D) International Service Branch Number
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33. Yukti as a pramana was accepted by?
A) Logicians B) Grammarians C) Ayurvedins D) Yogins

34. AIU means?
A) All Indian Universities
B) Association of Indian Universities

C) All India Urbanization
D) American Institute of Utopia

35. In connection with the Tantrayukti method, identify the correct combination from the following:
A) Vagbhata, Sushruta, Caraka, Abhinavagupta
B) Sushruta, Vagbhata, Patanjali, Gautama

C) Bhartrhari, Jaimini, Kapila, Badarayana
D) Caraka, Sushruta, Vagbhata, Kautilya

36. "3HE:' means?

A) A yukti

B) Approximation

C) Postulation

D) Hypothesis

37. What are the problems encountered by researchers in India?

A) Lack of scientific training

B) Insufficient interaction between research departments

C) Overlapping research studies

D) All the above

38. What is the chief requisite in collecting statistical data according to A.L. Bowley?
A) Sense of humor B) Common sense  C) Patience D) Experience

39. Udayanacharya used --- arguments to prove the existence of Isvara

A) 05 B) 07 C) 09 D) 11

40. The ‘Hour glass model’ is used to describe ---

A) Case study B) Time calculation C) Scientific study D) Research
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PART -B

41, TR R -
A) S9SN ety

B) Sgaw difvgeat
C) A T1 B S9N
D) 31=7:

42. Computational Linguistics is a --- science.

- A) Theoretical

B) Practical

C) Both A&B

D) None of the above

43. TCANRATIIR BT qT: 2

A)Tg B) 3T C) WY D) ArRE
44, "SFFTED: ST G - P =Ie?

A) oA

B) JUSH ISR

C) AUgFIT SR

D) BFErRAUfER

45, FEAFRRTT ?

TIAGETI: ST STHIAGI BT |

7 Pl gradrTr Gia [Bgrefawyd 11

A) TeTERE B) BIUSWE C) e D) GHING
46. TSHART & THERIG RAAHT

A) XHIGUH B) HETHRH C)¥Fgdd D) UsIYRIUH

47, GYYFH_ --- 9afT |
A) for: B) SURF: C) grcqe: D) 3R,
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48. RgcaRumishaRTeE SR fddmed RIa -
A) TST:, 31T, 39
B) gedfl, a1, Ii:
C) ATHI:, I1Y: NISE
D) 31T, 319:, 3=H

49. SRV SrfeaRom wffaed uRmfee ? |
A) fefae B) fAfdee C) Tdfdaq D) y=iaer,
50. G 3 &: Head: fafga:?

A)Tag B) AdY C) T q D) fo:

51. What do you mean by NLP?

A) Neuro Linguistics Programming
B) Natural Language Processing
C) National Language Policy

D) National Linguistics Program

52. RIS - 3t T P SFrvafer?

A) i B) dcgey c) ferit D) &=

53. AETYRA --- g for fagerifer: faerd |

A) I B) *frq C) S&m D) 3nfS
54 TIGEITRIY TPiIgR! el Haad ?

A) PNGHRIRE  B) GSa-g=aR—A C) IeFSIRA D) Al paR-aRA

55. TIF: AITER: &I a7 WR: - AN |

A) guf: B) &g: C) 3/ D) 18R
56. PIC AR AFERITE: &: ?
A) 3 B ) gUs: C) mf=: D) IFT:

57. SfgeT 3T uefsut &: T ged ?
A) 3] B) 33 C) =3l D) 3%

Y

58. ATTACTIEI: FIATERTTEIRT: Sell?
A) SIFEER: B ) STFIfe: C) fasmfyy: D) fRemgeR:

-
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59. Find the odd one out, in context of Syntactico-semantic frameworks -
A)LFG B) TAG C)ECG D) CCG

60. FHURIRATC URYRMRI: Buf: 3 HRwT a8: 2
A) ST B ) PUHEH C) 3RATET D) a5

61. SYUHTALES Selgeey @ At aref: ffde:?

A) 3TH B) 31wt C) ufduq D) 3R
62. YoITA 'Y TS P a7 3He:?

A) B) 3US: C) farm D) T

63. THRINEHRY SUHSHRISIAT: &b waome ?

A) gafTa: B) WRfAUT: C) 3gMq D) He=F
64. Meronymy is a --- relation in WordNet

A) Syntactic B) Semantic C) Phonemic D) Phonetic
65. TRTATRIST -3 IBIGAT ?

A) 16,000 B) 24,000 C) 32,000 D) 44,000
66. AEISTTAFRAN P Jur=a?

A) Q= B) d9f¥r: C) IArSEAT: D) S T:

67. HEANBI -

TRGTHAY Ta) 9Ive: Tule afgaers |

A CITHITH AT IfAeT Ty 11

A) gfoe: B) Al C) YEaidew D) ST

68. AP 3h e~ Ieh: TREUET-Tey:?

A) U B) 0 C) 3f1am™ D) 3T

69. JRT=T TRnfrTe: 2

A) ITE: B) e C) D) fAde:

70. HAITAT: P?

A) J9TReT: B) Sz~ C) AT D) IR



71. R 333 & UY: fafga:?
A) Bq | B) @& C)uq D) 83

72. Who authored - ‘Natural Language Processing — A Paninian Perspective?’
A) Samskrita Bharati

B) Akshara Bharati
C) Sura Bharati
D) Vijnana Bharati
73. Tl B ST =R SHaT ?
- A) Ao B) TR C)ud D) 9d
74. ‘Ocimum Sanctum’ &I FR?EW'\[ b '"ﬂtfé'qt[ ?
A) gordt B) gRsT C) ALY D) 37
75. STSTEAT: FIfA: -
A) FHa: B) TART: C) FHf¥: D) Heely:

76. ‘Health is a state of complete physical, mental and social well-being and not merely the absence
of disease or infirmity’ - Which institution defined it so ?

A) AYUSH B) WHO C) UNO D) UNICEF

77. BTRDY DR T SUTTRIA ?

TEFHIT TG TG 7 aat=ad |
TG T AT Tl agaTaady |1

A)TRURNSY  B) Rigrageacdd C) IAReREReR D) fdRumaear

78. '3 UIGET 3T Dige I ?
A) HETRETH ByufemRp  ORfEEH D) R

79. TR BRI ATAFPTI: UIh: ?
A) TS B) UZcYl C) Srey D) wEEY

80. AATEFT-IFEITTIAC 1Y [Gehey: aeed: -
A) SEFFIIRAT:

B) fenfcaavgfads:

C) T FRIR-THTONI:

D) gHTfeSehaiT:




